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H & 0 & AFS B M M
2021 20l US| IS 2 A
SN I 2AAR
Hm: ZHO I8 - BWOF YL HENY
Gl 2H D18 - xF e (ol &
- _ - &
SA -3 HAGA) - HEAY - BES Ol & oK 'OTENE" HuE2
PIEEIPN 11,809,866 6,633,696 5,176,170
= 539,000
= 649,000
= 192,455
= 10,429,411
ZHo Jl= - WOt Y Iy 857,817 472,740 385,077
= 49,000
= 12,789
= 796,028
8 018 - =¥ pel 673,470 266,270 407,200
TysE zel 30,000 10,000 20,000
201 Yer2 | 30,000 10,000 20,000
01 Al2 22| 30,000 10,000 20,000
OPHE Y2t 20,0002 %500 10,000
OB A (2019~2020) 22 100,0008! *2005 20,000
THHYE 29 12,000 12,000 0
201 Yer2 | 12,000 12,000 0
01 AbR 22| 12,000 12,000 0
oOTHEYS 2 12,000, 0002 * 14! 12,000
THALHE 2 3,000 3,000 0
201 LBt Y| 3,000 3,000 0
01 AbR 22| 3,000 3,000 0
OAE AR = BOXEZ oI
20,0008 * 1502 3,000
THAR EN 623,400 236,200 387,200
201 LBt Y| 53,800 56,600 22,800
01 Al2 22| 32,200 42,200 10,000
O2HA ZY 9IEDS 4,000,000+ 14} 4,000
OBE E22 oIl 2,000,000 %14} 2,000
OHHSHUSAIALY L MUFANLY 2
4,000,000 * 14} 4,000
oORz2IE =Y 22,200
oLAE 500,0002! %123 6,000
OCHBt| 100,000 123 1,200
SEE 15,000, 00021 * 14} 15,000
02 22| 21,600 14,400 7,200
OFXBIAAL RXSS 600,008 %128 7,200
OUFSBUSAALY O5lM 018
600,0002! * 12 7,200
OY+LHA HEHY S4+TY M3
600, 000! * 122 7,200
202 01t 4,600 14,600 10,000

-219 -




SA

X ZH -
o =

JIEl 2 At
=ge &
el 28 D1

=PI

AN

=3 2l

= _ —_ XN LS
SN .G (SH) - NEAY - BAS Ofl Ak o Oﬂf}% HDE2
01 2L Y| 4,600 14,600 A 10,000
O=C3d AHAAHZ| A 230,000 x2H *x43] 1,840
OEEQIAF 2HES| B A 230,000 x22H +63] 2,760
203 R F=&d| 15,000 15,000 0
03 AIBHF=XRHL2F=XIY| 15,000 15,000 0
O=H MEAY =& 15,000, 000 x 14! 15,000
207 20| 150,000 50,000 100,000
01 932 E 4| 150,000 50,000 100,000
O=MMEBDAIY AME EIEH ZA 29
50,000,000 x1A! 50,000
OULAT SHTA THHE 48 o7 B
100,000,000 * 14! 100,000
306 =2 50,000 0 50,000
01 &2 50,000 0 50,000
OLUAARA EAH= 50,000,000& =14l 50,000
308 AXISHMSOIA 50,000 0 50,000
07 ARSI EE 2 50,000 0 50,000
OSHSRH ANANL =2 89 243
50,000,000 14! 50,000
401 Al&EHI L E20HY] 300,000 100,000 200,000
01 Al&H| 300,000 100,000 200,000
O X8 L LTEE RAAMNY
300,000,000 14! 300,000
SOAIE =& 22| 5,070 5,070 0
201 2Bt AY| 3,000 3,000 0
01 AP 22|t 3,000 3,000 0
OBCHAIY =& 2EE DN I
20,000 %1508 3,000
202 04| 2,070 2,070 0
01 20| 2,070 2,070 0
OB OHAIE &9 Y KiE=&
230,000 *3%H *33] 2,070
AOtEOF 22| 21,240 5,852 15,388
RSP AMAIEHI 89 21,240 5,852 15,388
201 2t A Y| 5,740 5,740 0
01 At 22|t 5,740 5,740 0
OFRYEP HIIE DA I 45,000 x50 2,250
OFRUED AHHZIA I 30,000& x1005 3,000
OPH =L BN +Z
70,0002 x7H % 13| 490
303 A= 15,500 0 15,500
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e RHEIEETIN
Mz 2Fo| JlE - WOH Y HEOpY
i

ol 40EI 2tel (S &SH)
SN B S() - MBAY - BAS e HlDS2
01 Z&3 15,500 0 15,500
O=sH HHAN BI =30 L&
7,500,0003 * 14 7,500
0RH F2o2 Bl SARN T4
8,000, 0003 =14 8,000
H 2tel 85,027 90,138 A5111
& 12,789
= 72,238
SHZAL 2 42,388 50,102 AT, 714
101 Q124 H| 5,386 9,535 A4,149
04 J12 22 XNsSE 5,386 9,535 A4,149
QJII2tHIZ22 Xt 2124H| 5,386
OZ At2tel Xt 72,4202 +3H 282 +0.5 3,042
OZX ALK& 22| Xt 69, 760R «1H 282 +0.5 qr7
(@)I= W e E ] 69,7603 1P *x242 0.5 838
O4UEd 2¢3 4,857,000& *0. 1088 529
201 et FH| 36,602 39,967 A8,365
01 At 22l gl 36,602 39,967 A8,365
OXANA E3Y 69,7602 6B x262 *0.5 5,442
OZ At EA 29 1,000, 0003 »14] 1,000
OZANEEE 7Y 300,000 * 14! 300
OSHEAN 222 M 70,0002 * 1094 2 700
SHEA E2X =4 8,000& 2 10 160
OLUZ SHHE L2 50,000& *100% 5,000
OSH(HR)=& M= 20,000& *1,2005% 24,000
202 04 HI 400 600 200
01 =LHOA Y| 400 600 A 200
O&AMANE & (Yl 20,0002 *2Z 10 400
2AT AFZ T AL 42,639 40,036 2,603
& 12,789
= 29,850
101 2124 | 8,572 7,124 1,448
= 2,570
= 6,002
04 1222 NSE= 8,572 7,124 1,448
OJIZ2tMIZ 2 Xt 21| 8,572
OZ At2tel k¢ 72,4203 *3H 20 4,346
& 1,303
= 3,043
(@)= W e E ] 69,7603 *5H x10 3,488
& 1,046
= 2,442
O4UEd 2¢3 738,000 * 14! 738
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SA

JIEl 2 At

Mz 2mo| JlE - BOF Y HEOHY
ol SH 22 (che &S
SA SR (S) - MRAY - BAS il &t e RS2
= 271
o 517
201 et Fy| 18,557 18,092 465
= 5,566
o 12,991
01 At 22|l 18,247 18,092 155
OZAMNA E==2E 69,760 x15H x17 17,789
& 5,336
= 12,453
OSH=AN EE22 HEH 70,0003 *5I4 2 350
& 105
= 245
OXZAMNEEF S 7Y 108,000 *14] 108
& 32
s 76
02 2322l 310 0 310
OotUlE ¥ RERZ 310,000 14! 310
= 93
i 217
202 o44| 310 420 A110
= 93
i 217
01 = LHGYI 310 420 A110
OAAKIE S ¢l 310,000& 14! 310
= 93
i 217
301 LB F 7,200 6,400 800
L= 2,160
i 5,040
12IIEt2 43 7,200 6,400 800
ogds 7 9,000& *800Jt = 7,200
& 2,160
i 5,040
308 AtXIEHHSOIA 8,000 8,000 0
& 2,400
i 5,600
11 ZBI2SOHEZ & E P E AL I 8,000 8,000 0
OZut=a Y BN 22t CHE ALY
8,000,000 =14 8,000
& 2,400
o 5,600
= ZAOHY 78,080 110,480 A32,400
s 49,000
= 29,080
HOtHE 29 1,080 1,080 0
201 et Fy| 1,080 1,080 0
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SN DIEZ AR
Mm: 2ol J|8 - B Y FHEK
el B H BN (el @)
= = e &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
01 At 2teltl 1,080 1,080 0
OO MARIRE BAAY 70,0008 x4 18] 280
ONOH MARIRE MASE
100,000 x4 H x23] 800
ANZ A5t 70,000 100,000 230,000
s 49,000
2 21,000
207 A =1OH e 70,000 70,000 0
s 49,000
2 21,000
01 28I 70,000 70,000 0
OXHASH2ASEA 70,000, 000& *14] 70,000
s 49,000
2 21,000
o3 2F X 7,000 7,000 0
201 L EH2 & 7,000 7,000 0
01 At 2teltl 7,000 7,000 0
O 5ARED X2 A4
30,0002 %1002 3,000
OBTALUA H2 214 200,000 2052 4,000
ME X 223,634 172,260 51,374
et Be 2 29 174,634 120,760 53,874
Ol &FAIAE 2 91,014 18,140 72,874
201 L EH2 & 3,000 0 3,000
02 3223l 3,000 0 3,000
ONATZZIY SXBS  3,000,0008 14! 3,000
308 XHXIEHH S 0| & 21,758 18, 140 3,618
N BII2SOEE & X AE AIS I 21,758 18,140 3,618
OXYME R2lAAE(e-5X) 2|
21,758,000& 14 21,758
403 THXISHHI S XH 0] 66,256 0 66,256
02 BII2SUIThERHE X 9| EtAL A 66,256 0 66,256
OXAITh ML BIAALY 25 PISAY]
66,256,000% * 14 66,256
A Ol AHER A 56,000 58,000 A2,000
201 LEH2 & 56,000 58,000 A2,000
01 A2 2|t 56,000 58,000 £2,000
OYE L = HAN A4
60,0002 * 14052 #53] 42,000
OYE L = Mo FENS o4
50,000& 140 *23| 14,000
NgHEstsss N 24,220 41,220 A 17,000
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IS[EEDNN
IHX‘I I|°J
2 Olat B W 2

02

: . e
SN ZH - S(S) - MRAY - BAS S dImEET
201 et gy| 9,220 11,220 A2,000
01 At 22|l 9,220 11,220 A2,000
OME2ARA A =2 70,0003 +8H 23] 1,120
OEXNEAI |22 2ARARZS A&
100,00021 %1024 +23| 2,000
OXNZgEESAARAS AL =
100,000& * 108 *43| 4,000
OXNYBEZAARAG FHA g
70,0003 10 %32 2,100
202 04l 10,000 25,000 215,000
01 = LHGYI 10,000 25,000 215,000
- EYUS 0N BSHY
250,000% x4 H x53] 5,000
Ok - =2 MEXR &5 89
5,000,000& 14! 5,000
203 HRF&H| 5,000 5,000 0
03 Al =X R A 5,000 5,000 0
OXNLMHE &5 =& 5,000,000& 14! 5,000
FOFEHUAM 22 3,400 3,400 0
201 et gy| 3,400 3,400 0
01 At 2teltl 3,400 3,400 0
OFHOK MRS ML
100, 0003 12 »23| 2,400
O=FRENWULMNE 29 1,000,000& *14] 1,000
2= NJZH 29 37,000 37,000 0
HENAZSEH 29 32,000 32,000 0
201 et gy| 20,000 20,000 0
01 At 2teltl 20,000 20,000 0
OHHXA LBt==ZH| 20,000,000 14! 20,000
202 04l 12,000 12,000 0
01 =L YI 12,000 12,000 0
OHAEXA SUHHI 12,000, 0003 » 14 12,000
2ItN#ESSEH 29 5,000 5,000 0
301 LEEF 5,000 5,000 0
09 HALAHIXIAZ 5,000 5,000 0
O XA QIztol MH|B 4t 100,000& x50H 5,000
HE X% 12,000 14,500 A2,500
ME K= 12,000 14,500 A2,500
201 et Fy| 7,500 7,500 0
01 At 22|l 5,000 5,000 0
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A JIEZ A
a3 HE N

& HE X< CEREE
- _ - &
SA - SRA(SAH) - HRAY - HES Ol &4 'oﬂ'&oEH Hlus2
OEx3 ARuUE 29 4,000,000& 14! 4,000
Oy 2?33 &Ak=E 100,000& x5 22| 1,000
02 5223l 2,500 2,500 0
OEANES HElA2E RANES
2,500,000& 14! 2,500
202 04l 2,000 2,000 0
01 =LHOIBI 2,000 2,000 0
O XA X EZA & 2HA
20,0003 +2H 502 2,000
301 LEIENZ 2,500 5,000 A2,500
12 JIEtE A3 2,500 5,000 A2,500
OXNLEXZAIAT HE gt S MINEAS
2,500,000& 14! 2,500
dglgts MYy 2 34,854 28,048 6,806
ZAMEE 2el 34,854 28,048 6,806
HAES = 33,004 26,198 6,806
201 L EH2 & 21,000 14,900 6,100
01 At 2teltl 21,000 14,900 6,100
O3&XLt Fgsts fIEg W=
4,000,000& 14! 4,000
OZ A= =& 12,000, 000& * 14! 12,000
oX=dd =& 5,000,000& 14! 5,000
202 04l 5,600 5,600 0
01 2LHO b 5,600 5,600 0
OZAES =¥ 140,000& x2% 203! 5,600
308 AtXIHHSOIA 6,404 5,698 706
N SISO E S & EAE ArS I 6,404 5,698 706
OHUe(SHAANIZLHE)AIAH SAES
1,607,000& 14 1,607
OXUe(SHAANZLIHE)AIAY 2SR
4,797,000& 14! 4,797
S HASSE 22 1,850 1,850 0
201 LetEdy| 1,850 1,850 0
01 AtR2teltl 1,850 1,850 0
O3 zelfds ¢ 70,0003 5% »33| 1,050
OZSANMLSE 2L s2HIE
2,000& 400 800
HIEAE 2 171,550 171,550 0
i 23 4,350 4,350 0
g2 Y AXEA 2l 4,350 4,350 0
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SA

=2 Al
M HoHY 2
ool A 29 (ol @2
= = e &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
201 LEH2 & 4,350 4,350 0
01 A2 2| 4,350 4,350 0
oHyE == 2 1,500, 00024 #14! 1,500
OXFER BE M 1,250,000%4#14! 1,250
OHTAT - ABHS HEY KN
1,600,000& * 14 1,600
2 29 167,200 167,200 0
L4 XS 167,200 167,200 0
201 LBr2 | 154,600 154,600 0
01 A2 2| 144,600 144,600 0
OASSHHSA HUE 130,000,000 14! 130,000
OHENZ ¥ ZH==2 10,000, 0003 * 14! 10,000
OZ3SR2 A8 Atdl3 1,000,000& * 14 1,000
OISHBA +g 300,002 122 3,600
02 ISl 10,000 10,000 0
OASHIE L3 (ML) 10,000, 0003 * 14! 10,000
202 04l 1,600 1,600 0
01 24018 1,600 1,600 0
O2&48 0fH| 1,600,00024#14! 1,600
301 LB HI 11,000 1,000 0
12 JIEtEA 3 11,000 11,000 0
OAaES&A QIZtol B4k 100,000& * 103l 1,000
O2B4E SAAYS(HSA
2,500, 000! *421 10,000
2yeR ze 781,264 801,144 219,880
g2 - =g 22 207,320 208,200 2880
YUAMT 2 151,800 149,400 2,400
201 L EH2 & 148,200 145,800 2,400
01 At 2teltl 105,000 105,000 0
OQLAAAIX Y2t 8,750,000& *123] 105,000
02 ISl 43,200 40,800 2,400
OYYLAX 2 QB2 3,600,008 122 43,200
301 LEIENZ 3,600 3,600 0
12 JIEtE A3 3,600 3,600 0
OYLLAX JIDX B4
100, 00024 x3% 123 3,600
2|2 BE 55,520 58,800 3,280
201 LBr2 | 50,520 48,800 1,720
01 At 2teltl 36,120 34,400 1,720
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O 0y
M >
>

O ) &2

T 0X Jior

- _ - &
SN ZH - S(S) - MRAY - BAS S dImEET
QJIEt MER=E= 350,000+ 12& 4,200
Om28A 2 A P 350,000 *x12& 4,200
OZHEE Y JIIZPEE AXQG
5,000,000& 14! 5,000
QJtollet EHl & = 2,000,000& 14l 2,000
OBHIIS 2ES 4283 7Y
9,000,000& * 14l 9,000
o&dZE S A =& |X  10,000,000& 14! 10,000
ogsa 5 d2=J| Xz 60,000& 128 720
oYL S 2Y 228 7Y
1,000,000& * 14! 1,000
02 2322l 14,400 14,400 0
O2¢ctolATY HEY T2 0182
1,200,000 x12& 14,400
405 KHAHF SHI 5,000 10,000 A5,000
01 Xt 2 SFHSHI 5,000 10,000 5,000
OLEE < 5,000,000& * 14! 5,000
&2k 0I0IX 2el 573,944 592,944 219,000
=8 g2 330,400 349,400 219,000
201 LetEdy| 319,400 341,400 222,000
01 At 2teltl 302,000 324,000 222,000
O=FIEE & 170,000, 000& * 14! 170,000
oA 0I0IXEY 220D
50,000,000 14! 50,000
o=d 2= M% 22,000,000 14! 22,000
OZAZT iASEES SSHAYI
10,000, 0003 * 14! 10,000
O=Ed ZINE &2 Mg
50,000, 000& *14] 50,000
02 23234l 17,400 17,400 0
OYSAIEEHl Kb 3,000,000& 14! 3,000
OEBEANY 2323 1,200,000& 123 14,400
(fs] 3,000 3,000 0
01 = LHGYI 3,000 3,000 0
ocsEgs =M 250,000 *4H x33] 3,000
203 HRF&H| 5,000 5,000 0
03 Al =X 2= XH| 5,000 5,000 0
ozdEE 435 F& 5,000,000& 14! 5,000
301 LEEF 3,000 0 3,000
JIEt243 3,000 0 3,000
OCEEUAN 23 B4z 3,000,000& 14! 3,000
FUHNEE MEEZ XA 186,624 186,624 0
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SA

FSE N —Eg%?_ I‘_}a|
=Rl 222 0101 22 (el &
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
201 £et24E| 186,624 186,624 0
01 Ab=2t el 186,624 186,624 0
OFUANEE MEES 18,0002 864 & « 12 186,624
SNS 29 22 56,920 56,920 0
201 £et2E| 27,000 27,000 0
01 AtS2telH 27,000 27,000 0
OSNS CIXtel & E22 MA 2,000,000 *14] 2,000
OSNS WFELA =& 1,000,000 =14 1,000
OSNS E27IXte 2&H| 2,000,000 =14 2,000
OSNS =& 2l 22,000,000 14| 22,000
301 Let2d3 29,920 29,920 0
07 A =FH 0l 10,000 10,000 0
OSNS &dst BE0 29 5,000,000& 22| 10,000
09 AL HIXI &S 1,920 1,920 0
OSNS JIAtE W= & 2o A =&
10,0002 16 122 1,920
12JIe2d= 18,000 18,000 0
OSNS JItE 2= &4 2=
8,000,000 =14 8,000
oucc 28 2a= 10,000, 0003 14| 10,000
ors=X & 8,519,920 2,900,000 5,619,920
= 539,000
= 600,000
S 179,666
i 7,201,254
S0tSSAAH A& 8,519,920 2,900,000 5,619,920
= 539,000
[ 600,000
& 179,666
= 7,201,254
SOISSXNALYH AF(S3EHUE &F) 898,333 900,000 A1,667
= 539,000
S 179,666
i 179,667
402 212t X =01 & 898,333 0 898,333
= 539,000
S 179,666
i 179,667
03 SI2tIEAIEH 898,333 0 898,333
O0lgloly == (4&S0C =est)
898,333,000& * 14! 898,333
= 539,000
S 179,666
= 179,667
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SA

X ZH -
o =

JIEl 2 At

Ors=X &8

=@ SISEANJAHH XA (el &
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
SOISENAMH &=(XHA) 3,317,587 2,000,000 1,317,587
401 Al HIZ SO 700,000 2,000,000 21,300,000
01 AlEHI 700,000 2,000,000 1,300,000
OEXIHLI 700,000,000 *14] 700,000
402 It X=01 ™ 2,617,587 0 2,617,587
03 SI2tRIEAIEH 2,617,587 0 2,617,587
O=3E0lelold A=(CtL=8)
2,617,587,000& * 10 2 2,617,587
B3NS xel@ AE(XHA) 1,910,000 0 1,910,000
401 Al HIL 20l 1,910,000 0 1,910,000
01 AlEHI 1,900,000 0 1,900,000
0 2RMExY M=
1,900,000, 0002 19K 2 1,900,000
03 Al& =0 10,000 0 10,000
© AIZ=20Hd| 10,000,0003 14 10,000
Jb=EAE A - (ME80C) 1,200,000 0 1,200,000
[ 600,000
= 600,000
401 Al HIZ 20l 1,200,000 0 1,200,000
s 600,000
= 600,000
01 AlEHI 1,200,000 0 1,200,000
O Jt=dE AE 1,200,000, 000& 19K A 1,200,000
[ 600,000
= 600,000
JrEHE A (XAl 1,194,000 0 1,194,000
401 Al HIZ SO 1,194,000 0 1,194,000
01 Al€H| 1,194,000 0 1,194,000
OJI=HE &= 1,194,000, 0002 19K 2 1,194,000
a2l 1,000,000 1,890,550 890,550
olHIg (2Bt H) 1,000,000 1,890,550 890,550
OlHIBI (283 3H)) 1,000,000 1,890,550 890,550
801 OBl bl 1,000,000 1,890,550 890,550
01 &Brolulbl 1,000,000 1,890,550 890,550
oolditl 1,000,000, 0003 14| 1,000,000
HHE 2SI (D12 AL 201,927 191,904 10,023
Q2SI (D122 AA) 114,481 110,976 3,505
2 (V&2 AA) 114,481 110,976 3,505
101 14| 114,481 110,976 3,505
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R HPIEEDY
M HE2Y
Sl oz &
By S il &t e 2

114,481 110,976 3,505

10,8412 x22FH =480 Al 2t 114,481
) 87,446 80,928 6,518
87,446 80,928 6,518
46,946 44,328 2,618
222/l 46,946 44,328 2,618

oget=ZH| 26,810,000 =14 26,810

Oz &l 8,448,000 14 8,448

ogxt=z 11,688,000& * 14! 11,688
(fs] 30,300 27,400 2,900
= LI 30,300 27,400 2,900

OYR=& |2 30,300, 0002 =14 30,300
HRFEH| 10,200 9,200 1,000
01 J| 22 RFAH| 6,000 5,000 1,000

QJ|Z2AHRFEH| 6,000,000 14 6,000
04 EN2SLRFAH| 4,200 4,200 0

FHN2IEHRFE| 350,000 x12& 4,200
M 18,900 0 18,900
LIS HeHXI S (L5l ) 18,900 0 18,900
LHEHHXIE (DI ! 18,900 0 18,900
18,900 0 18,900
18,900 0 18,900

gzedlzg =32 AEHIEXE)
18,900, 000& * 14 18,900
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